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Module 2 Practice Test

Part I: Double Matching

Match each standard form equation with its equivalent vertex form equation in column A and it’s
factored form equation from column B.

Column Column Standard Form Vertex Form Factored Form
A B (Question) (Column A) (Column B)
C & 1.y=x*-2x-15 a. (x—7)2-25 ay=x-17x-3)
(k-2 xx3)
A D 2.y=x*—14x+24  b. (x—10)2—49 b. y = (x - 5)(x + 3)
{(x~a" Y % -2)
-D - 3.y=x*+14x-32 c (x—1)?2-16 c.y=(x+16)x—-2)
(x4l x -2
© & 4, y=x*—20x+51 d (x+7)2-81 d y=(x-12)(x - 2)
(_\.-L\ \b{r\ ,)

Part II: Multiple Choice
5. Which of the following is the correct factorization of the expression
3x2 + 23x — 8?
a (3x+1(x— 8) b. (3x—8)(x24 1) @ Bx—-1)(x+8) d. 3x—1)(x—8)

6. Which of the following expressions is NOT equivalent to the expression
2(4x = 3)(x — 4)
a. (4x — 3)(2x — 8) b. (8x —6)(x — 4)

@Qx_ L= 6) d. 8x% — 38x + 24

Sra N o
X Qe 4\;\‘ ““'\ the
Where is the vertex of the equation y = x? + 24x + 29 ‘ E’C\‘ﬁ”“““f‘
@ (-12,-115) b [(12,+173) c. (-12,-173) d. (12,-115) N -9
b TIPS TS - 24114
Part I1I: Short answer | il \f')' v A
Given some information, provide the other requested information e ZL\X:V o "
8.y=(x—-9(x+3) 9. y=(x—-4)°-6 (uriz)” # ‘\‘f
Al W2
a. The standard form equation: a. What form is the equation above written in? (xx\2 Y 520
2Pl e = 2l el heh S;r:( ul
b. The vertex: b. The x- mtercepts (LL n\fc\%\w Be ) 5
- - b . = = -0 } 27 e __\rk el ,":\ﬁ: ;L\tﬂa
xrila deen  YATERNRT verll  (reays fGoor = A X
“¢. The y-intercept: --¢1 (3 g d‘f) c. The factored form equation:
(o,-a") £ (xm ) =

(,Yx "’\)I, ¥ o* L\) - L(’:
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10. A quadratic equation that has x-intercepts of (-6 , 0) and (3 , 0), a stretch of 2, and the vertex

is a minimum

a. Factored form equation:
b.Vertex form-equation:
c. Standard form equation:

>{ =

s -2 (TR

2%+ Y-

—__‘}*d-lh“n(p

Y
A piece of information might be very easy to find in one form of a quadratic equation, and
difficult in another. Below, decide which form is the easiest one to use to find the indicated
information, say where you'd find it by using an example, and justify your answer.

11. Vertex:
\ ety

J\h( N

(x =% + \h

NLE
{

\e

12. Axis of symmetry:

chepr  (-\ \h)

\Jf- Xty Q (=L & --Qf‘\ (ol \-ec?‘tfsr *{\.awt Y
Ve Cx-eD® & Wk
{ \ma‘l A ey %= ~\n
13. y-intercept: -
DX oxd mw}f 'Qc:, v ‘}1 a X "t Yo x c.
L va\ne e X\ne WAR & t.“:.';‘f:iﬁ
14. x-intercepts:
AL B¢ e O\ ,-Q ¢ O\
VEECTINTEET ‘
X wnecee @(\ 5 ' =4, (Y e O

Factor the following polynomials.

15) y? -6y + 8

Cy- a0y

18) 2x2 + 15x + 7
WP\ Sy 4 W

CY‘\'\“ﬁ}J”\)
QAWI
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16) 15 — 8y +y2
\{ 2 %\/ + 1

qmng-t)

19) 3x? - 5x — 12

KRGy - Bl

(- )y v Q)

A e,
(O x ~b /\x\ —“f":,.‘

17) x2 - 10x + 24

(w-aY) x»—-@

20) 9x2+ 11x + 2
* # 1% 4 ]g
(v g xe2)
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